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Run Summary
Cycle status Extracted 302 Scored 302 Error rated 0 - 301
Projected Yield % Intensity
Yield Total (GB) (GB) Error Rate (%) Cycle 1 Cycle 1 % >= Q30
1,748.7 1,748.7 018 218.36 115.73 96.26
Read 2 1,748.25 1,748.25 0.1 159 84.27 96.1
Read 1
Legacy Phasing
| Prephasing Cycle Error Error Rate 100 Phasing slope / Prephasing
Lane Tiles Density (K/mm2) % PF Rate Reads (M) Reads PF (M) % >= Q30 Yield (GB) Rated Aligned (%) Error Rate Error Rate 35 (%) Error Rate S0 (%) Error Rate 75 (%) (%) Intensity Cycle 1 offset slope / offset
1 392 7235240 76.09 = 3.56 0.07 / 0.05 1,950.55 1,484.15 96.38 219.74 0-150 9917 = 017 0.15 = 0.04 0.07 = 0.05 0.07 = 0.04 0.09 = 0.04 011+ 0.04 22211412 0.04 /0.42 0.05/0.31
2 392 723524+ 0 7775 £ 2.77 0.07 /0.05 1,950.55 1,516.46 96.56 22426 0-150 9915+ 0.2 0.6 = 0.03 0.08 = 0.09 0.08 = 0.06 0.09 = 0.04 011+ 0.04 230.73 £ 1218 0.04/0.43 0.05/0.31
& 392 723524+ 0 75.08 =+ 1315 0.07 / 0.05 1,950.55 1,464.43 96.5 216.18 0-150 93.84 + 21.78 0.24 £ 0.45 0.09 £ 0.23 013+ 04 0.08 + 0.04 011+ 0.04 219.07 = 34.45 0.04/0.44 0.05/0.34
4 392 723524 0 76.53 + 5.52 0.07 / 0.05 1,950.55 1,492.68 96.28 220.87 0-150 98.89 + 0.98 016 = 014 0.08 £ 015 0.08 = 014 0.09 = 013 011+013 216.74 + 22.48 0.04 /0.45 0.05/0.35
B) 392 7,235.24 0 7734+ 6.9 0.07 / 0.05 1,950.55 1,508.51 96.53 223.31 0-150 98.98 = 0.5 0.6 = 0.07 0.06 = 0.08 0.07 = 0.07 0.08 = 0.06 0.1+ 0.06 219.88 = 14.34 0.04/0.43 0.05/0.34
6 392 7235240 7516 = 313 0.07 / 0.06 1,950.55 1,466.07 95,99 216.92 0-150 98.92 = 0.55 019 = 0.04 0.080M 0.08 = 0.08 01+ 0.06 013 = 0.05 2201+ 9.83 0.04/0.44 0.06/0.33
7 392 723524+ 0 73779 0.07 / 0.05 1,950.55 1,437.61 95.84 212.53 0-150 95.16 £ 17.77 0.21+ 01 013 +£0.39 012 £ 0.27 013 +£0.18 015 £ 014 210.38 + 2513 0.04/0.44 0.05/0.33
8 392 723524+ 0 7452 + 4.48 0.07 / 0.05 1,950.55 1,453.51 95.96 21488 0-150 98.94 + 0.35 0.16 = 0.03 0.05 +0.01 0.06 = 0.01 0.08 + 0.02 011+ 0.02 207.9 £ 14.77 0.04 /0.41 0.05/0.35
Read 2
Cycle Error Error Rate 100 Phasing slope / Prephasing
Lane Tiles Density (K/mm2) % PF Reads (M) Reads PF (M) % >= Q30 Yield (GB) Rated Aligned (%) Error Rate Error Rate 35 (%) Error Rate S0 (%) Error Rate 75 (%) (%) Intensity (.'yr\r"‘ 1 offset slope / fset
1 392 7235240 76.09 = 3.56 0.04/0.01 1,950.55 1,484.15 96.32 219.7 0-150 98.04 = 0.28 0.18 = 0.02 0.09 = 0.02 011 = 0.02 014 = 0.02 0.16 = 0.02 154.82 = 15.91 0.04/0.47 0.04 /0.03
2 392 7,235.24+0 7775 £ 2.77 0.04 /0.01 1,950.55 1,516.46 96.42 224.28 0-150 98.02 = 0.27 019 = 0.02 0.09 = 0.05 011+ 0.04 014 £ 0.03 0.6 = 0.02 164.51 = 16.42 0.05/0.49 0.04/0.03
3 392 723524+ 0 75.08 + 1315 0.04 /0.01 1,950.55 1,464.43 96.31 216.03 0-150 88.1+29.74 0.2 +£0.04 0.09 + 0.06 012 + 0.07 015 = 0.05 017 + 0.04 159.97 + 26.76 0.04 /0.48 0.04 /0.05
4 392 723524+ 0 76.53 + 5.52 0.04 /0.01 1,950.55 1,492.68 96.21 220.82 0-150 97.94 + 0.42 0.2+013 0.09 =+ 0.08 011+ 0.08 0.15 = 0.09 017 £ 01 157.28 + 17.08 0.04/0.51 0.04 /0.06
13 392 7235240 77.34 £ 69 0.04/0.01 1,950.55 1,508.51 96.31 2233 0-150 97.68 = 1.89 0.22 £ 019 0.09 = 0.08 012+ 01 015 = 012 018 = 015 160.94 = 11.92 0.05/0.49 0.04 /0.04
6 392 7235240 7516 = 313 0.05/0.01 1,950.55 1,466.07 95.76 216.87 0-150 976 £ 0.28 0.22 £ 0.02 0.08 = 0.02 011 £ 0.02 015 = 0.01 018 = 0.01 162.52 = 11.38 0.05/0.5 0.04 /0.04
7 392 723524+ 0 73779 0.04 /0.01 1,950.55 1,437.61 95.68 212.49 0-150 9488 =+ 15.4 0.21+0.03 0.09 = 0.02 012 £ 0.02 015 = 0.02 018 £ 0.03 1541 + 16.98 0.05/0.48 0.04/0.04
8 392 723524+ 0 7452 + 4.48 0.04 /0.01 1,950.55 1,453.51 95.79 214.76 0-150 97.44 + 0.64 0.2 + 0.02 01+0.03 012 + 0.02 015 = 0.02 0.18 + 0.02 157.89 = 1112 0.04 /0.46 0.04/0.03
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